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NEW QUESTION 1
Which two options help you sell Cisco ISE? (Choose two.)

A. Downplaying the value of px Grid as compared to REST ful APIs
B. Explaining ISE support for 3rd party network devices

C. Show casing the entire ISE feature set

D. Referring to Trust Sec as being only supported on Cisco networks
E. Discussing (he importance of custom profiling

Answer: BC

NEW QUESTION 2
Which is a function of lite Proactive Insights feature of Cisco DNA Center Assurance'?

A. pointing out where the most serious issues are happening in the network

B. generating synthetic traffic to perform tests that raise awareness of potential network issues
C. enabling you to quickly view all of the contextual information related to the end application
D. enabling you to see the complete path of packets from the client to the end application

Answer: B

NEW QUESTION 3
Which two options are primary functions of Cisco ISE? (Choose two.)

A. providing VPN access for any type of device

B. providing information about every device that touches the network

C. enabling WAN deployment over any type of connection

D. automatically enabling, disabling, or reducing allocated power to certain devices
E. enforcing endpoint compliance with network security policies

F. allocating resources

Answer: BE

NEW QUESTION 4
Which are two advantages of a "one switch at a time' approach to integrating SD-Access into an existing brownfield environment? (Choose two.)

A. appropriate for campus and remote site environments

B. allows simplified testing prior to cutover

C. deal for protecting recent investments while upgrading legacy hardware
D. involves the least risk of all approaches

E. opens up many new design and deployment opportunities

F. allows simplified roll back

Answer: AC

NEW QUESTION 5
Which two statements are true regarding SD-WAN demonstrations? (Choose two.)

A. As a Cisco SD-WAN SF, you should you should spend your time learning about the technology rather than contributing to demo innovation
B. Use demonstrations primarily for large opportunities and competitive situations

C. During a demo, you should demonstrate and discuss what the team considers important details

D. There is a big difference between demos that use a top down approach and demos that use a bottom up approach

E. During a demo you should consider the target audience and the desired outcome

Answer: DE

NEW QUESTION 6
Which three key differentiators that DNA Assurance provides that our competitors are unable match? (Choose three)

A. Support for Overlay Virtual Transport

B. On-premise and cloud-base analytics

C. Apply Insights

D. VXLAN support

E. Proactive approach to guided remediation
F. Network time travel

Answer: BEF

NEW QUESTION 7

Which two statements are true regarding Cisco ISE? (Choose two.)

A. In distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically.
B. The number of logs that ISE can retain is determined by your disk space

C. ISE supports IPv6 downloadable ACLs
D. ISE can detected endpoints whose addresses have been translated via NAT.
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E. ISE supports up to 100 Policy Services Nodes
F. In two-node standalone ISE deployments failover must be done manually

Answer: AB

NEW QUESTION 8

How would cisco ISE handle authentication for your printer that does not have a supplicant?
A. ISE would not authenticate the printer as printers are not subject to ISE authentication.
B. ISE would authenticate the printer using 8.2.1X authentication

C. ISE would authenticate the printer using MAB.

D. ISE would authenticate the printer using web authentication.

E. ISE would authenticate the printer using MAC RADIUS authentication

Answer: C

NEW QUESTION 10
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